
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

ثلاثة كسور ، ترتيب العمليات مع أقواس

(6 − 3) ÷ 9 = (3 − ) ÷ 6 =
5
18

( − ) =
3
1
6
1

6
1

( − ) × =
2
1

3
2

5
3

( + 2) ÷ 4 =
5
12

( − ) =
3
1
5
3

3
2

( − ) =
2
1
4
1

3
2

( − ) =
5
1
2
3

6
1

( + ) =
4
1
4
1

2
1

( + ) × =
4
1

5
1

4
1

www.snowmath.com

https://www.snowmath.com


　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

ثلاثة كسور ، ترتيب العمليات مع أقواس

(6 − 3) ÷ 9 =
3
1

(3 − ) ÷ 6 = (− )
5
18

10
1

( − ) = 0
3
1
6
1

6
1

( − ) × = (− )
2
1

3
2

5
3

10
1

( + 2) ÷ 4 = = 1
5
12

10
11

10
1

( − ) = (− )
3
1
5
3

3
2

45
1

( − ) = (− )
2
1
4
1

3
2

24
5

( − ) =
5
1
2
3

6
1

15
4

( + ) =
4
1
4
1

2
1

16
3

( + ) × =
4
1

5
1

4
1

80
9

www.snowmath.com

https://www.snowmath.com

